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- mghy +Emv12 =mgh, - ghy +EV12 =gh, 'H-_-'f‘ ]

— 10X 1+ X 400 = 10h; > h, = 21m i
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Py =P, > Py + p1ghy = Py + pagh, = p1hy = pohy

- 1Xx14=0.7h, - hy, = 20cm - Ah =20 —14 = 6cm

PA=PB_>PG+pghu,=PO+pghw|)
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/ Pg +10000 X 10 X 0 = 105+2000><10><1—0 N

All~- K/ B P;+5000=10°+2000- P; =10°—3000 = 97000 Pa

mcAO mLp _ mcAf _mlLy _
=20 — iok — ao ol — 100 LT — 100 o |

Q= mc&AH +mLp +mc_A6 + mLy Wy

Q=2x2100x20+2x 330000+ 2x4200x 100+ 2 x 2250000
Q = 84000+ 660000 + 840000 + 4500000 = 6084000 j

T, = 273 4+ 27 = 300K h_Y 2008500 T, = 1200K ,8, = 1200 — 273 = 923°C W
= = —_—=— = d = = - =
! 'T, T, 300 T, z 12

PV, PV, P, X3 2P XV,
= e d =
T, T, 300 500
T, =273+27=300K,T, =273+ 227 = 500K

005 Yo 20,3l &02

-IFECOO-C-C
;‘\;' P ECOO0 - IV« |V ORI RNV S PR Y- S
D OTETTTIIRY oo ot v e




